
Explore Overlander Light
Artikel Menge Teilname Montage

1 2 Rastbolze 4 x M5*12 Pin-Tx (2x)
2 2 Schutzplatte 2 x M5*8 hex (2x)
3 2 Scharnier 2 x M5*10 Pin-Tx (2x)

4 (optional) 2 Airline-Schiene M5*8 PVKK

1

2

3

4


	Sheets and Views
	Sheet1


